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x = input('inserisci x: ');

fx = 1

for ii = 1 : x

fx = fx * ii;

end

if (fx > 220)

y = input('inserisci y: ');

fy = 1

for ii = 1 : y

fy = fy * ii;

end

end



x = input('inserisci x: ');

fx = 1

for ii = 1 : x

fx = fx * ii;

end

if (fx > 220)

y = input('inserisci y: ');

fy = 1

for ii = 1 : y

fy = fy * ii;

end

end







function f=fattoriale(n)

f=1

for ii=1:n

f = f*ii

end



•

•

•



•



function f(x,y)

function [v1,v2,…] = f(x,y)

function [s, p] = sumProd(a, b)

s = a + b;

p = a * b;



function [out1, .., outM] = nomeFunzione(in1, .., inN)

in1,.., inN

out1,.., outN

function

[out1, .., outM] 

out1, 

.., outM



x = input('inserisci x:');

fx = fattoriale(x); 

if (fx>220)

y = input('inserisci y: ');

fy = fattoriale(y);

end

function f=fattoriale(n)

f=1

for ii=1:n

f = f*ii

end



function f=fattoriale(n)

f = 1;

for ii=1:n

f = f*ii;

end

>> fat5 = fattoriale(5) %Invocazione

fat5 = 

120



>> [x,y]=sumProd(4,5)
function [s,p]=sumProd(a,b)

s=a+b;

p=a*b;



>> [x,y]=sumProd(4,5)
function [s,p]=sumProd(a,b)

s=a+b;

p=a*b;















•



(1) >> x=3;

(2) >> w=2;

(3) >> r = funz(4);

function y = funz(x)

y = 2*x; %(1’)

x = 0; %(2’)

z = 4; %(3’)



(1) >> x=3;

(2) >> w=2;

(3) >> r = funz(4);

function y = funz(x)

y = 2*x; %(1’)

x = 0; %(2’)

z = 4; %(3’)

x = w - 1; %(4’)







s = sommaProd(5,2) s





function [minore, maggiore] = minmax(a,b,c)

maggiore = a;

if maggiore < b

maggiore = b;

end

if maggiore < c

maggiore = c;

end

minore = a;

if minore > b

minore = b;

end

if minore > c

minore = c;

end



>> [minore, maggiore] = minmax(7, 8, 9);

>> [minore] = minmax(3*x -y, a-1, a);

>> [∼, maggiore] = minmax(s, t, s-t);

>> [minore, maggiore] = minmax(s, t);



function [positivi, media] = mediaPositivi(vett)

somma = 0; cnt = 0;

positivi = [];

for ii = 1 : length(vett)

if vett(ii) > 0

positivi = [positivi, vett(ii)];

somma = somma + vett(ii);

cnt = cnt + 1;

end

end

if cnt > 0

media = somma / cnt;

end



function [positivi, media] = mediaPositivi(vett)

somma = 0; cnt = 0;

positivi = [];

for ii = 1 : length(vett)

if vett(ii) > 0

positivi = [positivi, vett(ii)];

somma = somma + vett(ii);

cnt = cnt + 1;

end

end

if cnt > 0

media = somma / cnt;

end



function [positivi, media] = mediaPositivi(vett)

somma = 0; cnt = 0;

positivi = [];

for ii = 1 : length(vett)

if vett(ii) > 0

positivi = [positivi, vett(ii)];

somma = somma + vett(ii);

cnt = cnt + 1;

end

end

if cnt > 0

media = somma / cnt;

else

media =  [];

end



>> [x,y]=sumProd(4,5)

x = sumProd(4,5)

x

sumProd(4,5) ans

sumProd

~

[~,y] = sumProd(4,5)

function [s,p]=sumProd(a,b)

s=a+b;

p=a*b;











function [t]=trasposta(m)

[r,c]=size(m);

for ii=1:r

for j=1:c

t(j,ii)=m(ii,j);

end;

end

>> m =[1,2,3,4

5,6,7,8

9,10,11,12]

m =

1     2     3   4

5     6     7   8

9    10    11   12

>> trasposta(m)

ans =

1     5     9

2     6    10

3     7    11

4     8    12





x = input('inserisci x: ');

fx=1

for ii=1:x

fx = fx*ii

end

if (fx>220)

y = input('inserisci y: ');

fy=1

for ii=1:y

fy = fy*ii

end

end

f=1

for ii=1:n

f = f*ii

end



x = input('inserisci x: ');

n=x

fattoriale

fx=f

if (fx>220)

y = input('inserisci y: ');

n=y

fattoriale

fy=f

end

f=1

for ii=1:n

f = f*ii

end



x = input('inserisci x: ');

n=x

fattoriale

fx=f

if (fx>220)

y = input('inserisci y: ');

n=y

fattoriale

fy=f

end

f=1

for ii=1:n

f = f*ii

end



n=x

fattoriale

fx=f

f=1

for ii=1:n

f = f*ii

end



•

•

•









• 𝐹(0) = 0

• 𝐹(1) = 1

• 𝐹(𝑛) = 𝐹(𝑛 − 1) + 𝐹(𝑛 − 2) , 𝑛 > 1
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×

×

×

×

×

×

arr
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function [minore, maggiore] = minmax(a,b,c)

minore = a;

maggiore = a;

if minore < b

minore = b;

end

if maggiore > b

maggiore = b;

end

if minore < c

minore = c;

end

if maggiore > c

maggiore = c;

end



function [minore, maggiore] = minmax(a,b,c)

minore = min([a,b,c]);

maggiore = max([a,b,c]);



min max)

>> a = [24 28 21; 32 25 27; 30 33 31; 22 29 26]

a = 24    28    21

32    25    27

30    33    31

22    29    26

>> min(a)

ans = 22    25    21

>> [x y]=min(a)

x =  22    25    21

y =  4     2     1

>>

>> b = [4 7 2 6 5]

b =  4     7     2     6     5

>> min(b)

ans = 2

>> [x y]=min(b)

x =  2

y =  3

>>



function k = fattoriale2(n)

k = prod([n : -1 : 1]);



length(v), 

size(A)

size(A, dim)

length

max(size(A))


